
Subject: Re: A  very simple FORMAT question
Posted by wmconnolley on Wed, 21 Apr 2004 19:38:44 GMT
View Forum Message <> Reply to Message

"Andry William (Please remove \".spam\")" <andry> wrote:
> ------------------------ test.datos ----------------------------
> |020922 10:00:00    |   339|   348|    63|   356|   400|    88|
> ------------------------ End data ------------------------------

> lineas= LONG(lineas[0])
> data= INTARR(11, lineas)

I count 10 not 11?

> OPENR, 1, flnm
> READF, 1, data, format= '(1x,i6,3(1x,i2),4x,7(1x,i6))'

should be 6 not 7(ix,i6)?

BTW, you could start of with 

spawn,"perl -i -pe 's/|:/ /g' test.datos"

which would change your : and |'s into spaces, whereupon your 
reading could be simplified.

-W.

-- 
William M Connolley | wmc@bas.ac.uk | http://www.antarctica.ac.uk/met/wmc/
Climate Modeller, British Antarctic Survey | Disclaimer: I speak for myself 
I'm a .signature virus! copy me into your .signature file & help me spread!
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